( SIMRAD _—

Halo™- Pedestal Box Contents -

ﬁ S o e omeion —Jay
1 000-11463-001 Radar pedestal 1

Interconnection cable (20 m (65 ft) (other

AA010212 lengths available) !
4 089-0483-00 Lifting strap 1
072-3263-001 BIankl‘ng plug (useq when interconnection 1
cable is not rear exit
024-0305-00 Anti-corrosion grease 1

000-12514-001 Pedestal mounting bolts and washers
a) Bolts, hex head, M12 x 35 mm, 316 s/s 4

b) Bolts, hex head , M12 x 50 mm, 316 s/s 4

c) Flat washer M12 x 36 x 3, 316 s/s 4

d) Spring washer M12, 316 s/s 4

e) Nylon isolating washer M12 x 38 8

7 988-10678-001 Drill template 1
988-01676-001 Installation Manual 1




@

()
@ |
|4
3

T e

Halo Antenna (one of the following) ' e Ethernet adapter. RJ45 male to 5 pin female

v 1
000-11464-001 3 ft (3.70 ft Antenna 1127 mm (44.37") 150 mm (5.9°)
1
000-11465-001 4 ft (4.70 ft Antenna 1431 mm (56.34”) u 000-0127-51  Ethernet cable 1.8m (6ft) 1
000-11466-001 6 ft (6.69 ft Antenna 2038 mm (80.24”) u 000-0127-53  Micro-C drop cable 1.8m (6ft) 1
- 000-12515-001 Antenna Mount Kit ' CNOO0759-G Connector for the pedestal interconnection 1
cable
- 2) Dome nuts M8, 316 s/s 4
MConnector for Aux In (NMEA 0183, remote
. 037-0522-02
- 3) Spring washer, M8, 316 s/s 4 power and park brake)
. 4) flat washer M8x16x1.2, 316 s/s 4 e L .
u 003-9729-00 Mounting hardware 1




Halo™- Options & Accessories —

Individual Halo Hardware Mounting Kits

000-12515-001 HALO, ANTENNA MOUNTING KIT
000-12514-001 HALO, PEDESTAL MOUNTING KIT

000-12514-001  |HALO, PEDESTAL MOUNTING KIT

072-0482-01 POLY BAG 4" X 6" AUTOBAG

051-3190-00 LBL WH POLYESTER 50x11mm BLANK

089-0485-00 BOLT, HEX, M12x35, 316 s/s
089-0486-00 BOLT, HEX, M12x50, 316 s/s

089-0487-00 WASHER, FENDER, M12x36x3, 316 s/s
089-0488-00 WASHER, SPRING, M12, 316 s/s

089-0489-00 WASHER, ISOLATING M12x38 NYLON

000-12515-001 HALO, ANTENNA MOUNTING KIT

072-0482-01 POLY BAG 4" X 6" AUTOBAG
051-3190-00 LBL WH POLYESTER 50x11mm BLANK
089-0491-00 NUT, DOME, M8, 316 s/s
089-0492-00 WASHER, FLAT, M8x16x1.2, 316 s/s
089-0493-00 WASHER, SPRING, M8, 316 s/s

Qty




